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Ans. 
Key 

Value Points 
Marks 
allott

ed 

I. 1.  

 

Ans. :  

 (A) 12 1 

B 
CCE RR 

Revised & Un-Revised 
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Qn. 
Nos. 

Ans. 
Key 

Value Points 
Marks 
allott

ed 

 2.  

  

Ans. :  

  (C) 
4
1  

1 

 3.  

   

Ans. :  

 (C)  1 

 4.  

   

Ans. :  

 (D) 18. 1 

 5.  

 

Ans. :  

 (A) 16 cm 1 
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Nos. 

Ans. 
Key 
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 6.  

  

Ans. :  

 (B) cot θ 1 

 7.  

   

Ans. :  

 (C) ( 3,  5 ) 1 

 8.  

  

Ans. :  

 (D) 4π 2r . 1 
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Qn. 
Nos. Value Points Marks 

allotted 

II. : 6 × 1 = 6  

   

 9. 

 

Ans. : 

  =  2 × 4 = 8 1 

 10. 

 

Ans. : 

S  =  { HH,  TT,  HT,  TH } 1 

 11. 

 

Ans. :  

  =   3600 ×  
360
100

 ½ 
 

  =  1000 Tons ½ 1 

100 
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 12.   
Ans. :  

                                                                   

 2x  + 5x + 6  

 =  2x  + 3x + 2x + 6 

 =  x ( x + 3 ) + 2 ( x + 3 )  ½ 

 =  ( x + 3 ) ( x + 2 ) 

                          ½ 1 

 
                                                                            

 2(65)3 2 ++++ xxxx  ½ 

  xx 32 +  
  (–)  (–) 

  2x + 6 

  2x + 6 
  (–)   (–) 

  0 

                                ½ 1 

 13.   

Ans. : 

  1 

 14. 

  

Ans. :  

 121 −=mm  ½ 

1
3
1

2 −=×m  

∴ 32 −=m  

                     ½ 1 
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Qn. 
Nos. Value Points Marks 

allotted 

III. 15. 

 

Ans. :  

 A I B   =   {  2 ,   3  }  ½ 

(  A  I B  ) l   =   U  –  (A I B  )  

 =   {  1 ,   4 ,   5 ,   6 ,   7 ,   8  }  . . .  ( i )   ½ 

 A l   =  {  4 ,  5 ,  6 ,  7 ,  8  }  

 B l   =  {  1 ,  6 ,  7 ,  8  }  ½ 

A l  U B
l   =  { 1, 4, 5, 6, 7, 8 } ... (ii) 

                     

 (  A  I B  ) l  =   A l  U B
l   ½ 2 

 16. 
  

Ans. :  

 a  =  2,   r  =  
3
1

 , ∞S  =  ? 

 ∞S  =  
r

a
−1

 ½ 

 =  

3
11

2

−
 ½ 

 =  

3
13

2
−

 

 =  

3
2
2

 ½ 

 =   2  ×  
2
3

 

 =  3 ½ 2 
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 17.   

Ans. :  

  32 +    

⇒  32 +   =  
q
p  where  p,  q ∈ z,   q ≠  0 ½ 

⇒  3   =  
q

qp 2−
  

⇒  3    

  
q

qp 2−
Q   is rational.  ½ 

 ½ 

∴  

∴  ½ 2 

 18.   

Ans. :  

 ∴    n  = 8             

∴   =  2
8C  ½ 

 
2

)1(
2

−
=

nn
Cn  ⇒  2

8C   =  
2

)18(8 −
 ½ 

  =  4 × 7 

  =  28 ½ 

 

∴   =  28 – 8 

  =  20 ½ 2 

4 
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                                                                                    :   

  =  
2

)3( −nn
 ½ 

  n  =  8 

∴                    =  
2

)38(8 −
 ½ 

  =  4 × 5 ½ 

  =  20 ½ 2 

   

 19.   

Ans. :  

   =  10, 15, 20, ... 95  

                                            =  10 + 15 + 20 + ... + 95  

   a  = 10,   d = 5,   nT  = 95  

 
∴ nT  =  a + ( n – 1 ) d  

 95  =  10 + ( n – 1 ) 5 

 ( n – 1 )  =  
5
85

 1 

 ( n – 1 )  =  17 ∴     n  =  18  

                   
2
nSn =  [ 2a + ( n – 1 ) d ] 

  18S   =  
2

18
 [ 2 × 10 + ( 18 – 1 ) 5 ] 

  =  9 ( 20 + 85 ) 1 

  =  9 × 105 

  18S  =  945 2 
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 n  =  18,   a = 10,   l = 95 

∴ 
2

)( lan
Sn

+
=   1 

 18S   =  
2

)9510(18 +
  =  9 × 105  =  945. 

 

 :   

  10 + 15 + 20 + ... + 95 

 =   5 ( 2 + 3 + 4 + .... + 19 )  ½ 

 =   5 ( ∑ 19 – 1 )  ½ 

 =   5 ( 190 – 1 )  ½ 

 =   5 × 189  =  945.  ½ 2 

 20. 

 

  

Ans. :  

  4  =  4
5P  =  5 × 4 × 3 × 2 

  =  120 ½ 

 

    

1
1P  1

4P  1
3P  1

2P  
 

 

  =  1 × 4 × 3 × 2 

 =  24 numbers.  ½  

   

9 

1 
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                                 =  1 × 3
4P  ½ 

  =  1 × 4 × 3 × 2  ½ 

  =  24 ½ 2 

   

 2
2

2 50)(2 PP nn =+  

2n ( n – 1 ) + 50  =  2n ( 2n – 1 )  ½ 

22n  – 2n + 50  =  nn 24 2 −  ½ 

 22 24 nn −  =  50 

 22n  =  50 ½ 

 2n  =  25  

 ∴    n  =  ± 5 

 ∴     n  =  5 ½ 2 

 21. 

 

Ans. :  

                                            =  6 × 6  =  36 

  ∴   n ( s )  =  36 ½ 

            =  
⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

=
)1,6()2,5()3,4(

)4,3()5,2()6,1(
A  

  n ( A )  =  6 ½ 

             =   P ( A )  =  
)(
)(

Sn
An  ½ 

  =  
36
6

 ½ 

  =  
6
1

 
2 
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 22. 

  

Ans. :  

  25 +    25 −    

 =  
25
25

25
23

+

+
×

−
 ½ 

 =  
22 )2()5(

)25(23

−

+
 

½
 

 =  
25

)2(3103
−
+   

 =  3
6103 +  

 =  
3

)210(3 +

 

½
 

 =  210 + . ½ 2 

 23.    

Ans. :  

 )1220()4575( +−   

 =  )3454()59325( ×+××−×  ½  

 =  )3252()5335( +−   

 =  )3252(53)3252(35 +−+  ½  

 =  156)5(6)3(101510 −−+  ½  

 =  15630301510 −−+   

 =  154 . ½ 2 
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 24. 

  

  

Ans. :  

 3 3 – 2 7 – 5  

 0 9 21 84  

 3 7 28 79 1 
 

 

 

 

 ∴   =  23x  + 7x + 28 ½ 

   =  79.  ½ 2 

   

 Let  f ( x )  =  2063 23 −+− xxx   

   f ( x )    

    f ( 2 )  =  0 ½  

 ∴  f ( x )  =  2063 23 −+− xxx  

     f ( 2 )  =  20)2(6)2(32 23 −+−  ½  

  =  8 – 12 + 12 – 20 

 =  –  12  

 ∴ f ( 2 )  ≠  0 ½  

 ∴  2063 23 −+− xxx   x – 2   ½ 2 



CCE  RR  13 81-U 

  RR(B)-30014  [ Turn over 

Qn. 
Nos. Value Points Marks 

allotted 

 25. 

 

Ans. :  

 DE || BC    Δ ABC    

 ∴ 
EC
AE

DB
AD

=  BPT ½ 
 

  
EC
4

5
2

=  ½ 
 

 
 EC  =  

2
54

2
×

  =  10 cm ½ 
 

 ∴ AC  =  AE + EC  

 =  4 + 10 

 =  14 cm.  ½ 2 

   

 DE || BC   Δ ABC    

 ∴ 
AC
AE

AB
AD

=  Cor. BPT ½ 
 

  
AC
4

52
2

=
+

 ½ 
 

 ∴ AC  =  
2
47 2×

 ½ 
 

  =  14 cm.  ½ 2 
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 26. 

 

Ans. :  

 r  =  4·5 cm Chord  PQ  =  7 cm 

 

   — ½ 

   — ½ 

  — 1 2 

 27.   

Ans. :  

           
  ( 1x  1y ) 

 A   = ( 2, 4 ) 
  ( 2x  2y ) 

 B  = ( 8, 12 )  ½ 
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    d =  2
12

2
12 )()( yyxx −+−  ½ 

 =  22 )412()28( −+−  

 =  22 86 +  ½ 

 =  6436 +  

 =  100  

 =  10.  ½ 

 

 

 

 

 

 

2 

 28. 

 

Ans. :  

  = x  

  = y. 

∴ x  =  ( 2y – 1 )  ½ 

          = 15 

 xy  =  15 

 ( 2y – 1 ) y  =  15 ½ 

 0152 2 =−− yy   

 22y  – 6y + 5y – 15 = 0 

 2y ( y – 3 ) + 5 ( y – 3 ) = 0 

 ( y – 3 ) ( 2y + 5 ) = 0 

 ∴ y  =  3 ½ 

  x = 2 × 3 – 1 = 6 – 1 = 5   y = 3  ½ 

∴ 5 =   

 3 =    2 
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 29. 

 

Ans. :  

 
a) sin θ  =  

2
1

Hyp
Opp

==
AC
BC  ½ 

b) cos θ  =  
2
3

Hyp
Adj

==
AC
AB  ½ 

c) cosec θ  =  2
sin

1
=

θ
 ½ 

d) sec θ  =  
3
2

cos
1

=
θ

. ½ 
2 
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 30. 

   
Ans. :  

 20 m  =  
20
20

 =  1 cm 

60 m  =  
20
60

 =  3 cm 

90 m  =  
20
90

 =  4·5 cm 

140 m  =  
20

140
 =  7 cm 

60 m  =  
20
60

 =  3 cm 

80 m  =  
20
80

 =  4 cm 

30 m  =  
20
30

 =  1·5 cm ½  

 

 2 1½ 
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allotted 

IV. 31. 
  

 

Ans. :  

 
 12

1
5 =T   and  

15
1

11 =T  
 

   

 ∴ a + 4d  =  12 ... (i)  ½ 

 a + 10d  =  15 ... (ii)  ½  

   

  a  +  10d  =  15 

  a  +  4d   =  12 
 ( – )  ( – ) 

  6d  =  3  

 ∴ d  =  
2
1

6
3

=  ½ 
 

   d  =  
2
1

,    a + 4 )(
2
1   = 12 

 

   a + 2  =  12 

  a  =  12 – 2  

   ∴ a  =  10 ½  

   

   a  =  10  and  d  =  
2
1

      
 

 dna
Tn )1(

1
−+

=  ½ 
 

2 
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2
125

)125(10

1

−+
=T  

 

  =   

2
12410

1
12

×+

  

 

  
22
1

25 =T  ½ 
3 

  :   

 11T
  5T

  

 
 5T  =  12    11T  =  15 

 

 ∴ d  =  
qp

TT qp
−

−
 ½ 

 

  =  
115

115
−

− TT
 

 

  =  
2
1

6
3

115
1512

=
−
−

=
−
−

 ½ 
 

   d  =  
2
1

     a + 4 )(
2
1   = 12 

 

   a + 2  =  12  

   ∴ a  =  10 ½  

  a  =  10    d  =  
2
1

   
 

 dna
Tn )1(

1
−+

=  ½ 
 

 
2
125

)125(10

1

−+
=T  ½ 

 

  =   

2
12410

1
12

×+

  

 

2 
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22
1

25 =T  ½ 
3 

   

 3T  = 12 ∴ 122 =ar  ... (i)  ½ 
 

 6T  = 96 ∴ 965 =ar  ... (ii)  ½ 
 

 ∴ 
12

96 8

2

5
=

ar

ar

            
 

 

  3r   =  8 ∴ r  =  2 ½  

  r  =  2       a ( 2 ) 2   =  12  

   4a  =  12 

  ∴ a  =  3 ½  

  r  =  2     n = 9, a  =  3     

  
1

)1(
−
−

=
r
ra

S
n

n  
 

  
12

)12(3 9

9 −
−

=S  ½ 
 

   =  3 ( 512 – 1 ) 

  =  3 × 511  

 
 9S  =  1533 ½ 

3 

8

9612

96)(

3

3

32

=

=

=

r

r

rar
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 32. 

  

Ans. : 

  A  =  12 i  =  5   

  C.I. f x 
d  =  

i
Ax −  2d  f d 

2df  

0-4 1 2 – 2 4 – 2 4 

5-9 2 7 – 1 1 – 2 2 

10-14 5 12 0 0 0 0 

15-19 4 17 1 1 4 4 

20-24 3 22 2 4 6 12 
 

1½ 

   N = 15 ∑ f x  =  6  ∑ f 2d =  22  

   =  2
22

2 i
N
fd

N
df

×⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ ∑
−=σ ∑  ½ 

 

   =  2
2

5
15
6

15
22

×⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
−  

 

   =  ( 1·466 – 0·16 ) × 25 ½  

   =  1·306 × 25  

   =  32·6 ½ 3 
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 :  

  C.I. f x fx 2x  2xf  

0-4 1 2 2 4 4 

5-9 2 7 14 49 98 

10-14 5 12 60 144 720 

15-19 4 17 68 289 1156 

20-24 3 22 66 484 1452 
 

 

   N = 15 ∑ fx = 210 ∑ f 2x = 3430  

   =  
22

2
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ ∑
−=σ ∑ N

xf
N
xf

 ½ 
 

   =  
2

15
210

15
3430

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
−  

 

   =  228·6 – 196 ½  

   =  32·6 ½ 3 

 :  

     A  =  12 

C.I. f x d = x – A fd 2d  2df  

0-4 1 2 – 10 – 10 100 100 

5-9 2 7 – 5 – 10 25 50 

10-14 5 12 0 0 0 0 

15-19 4 17 5 20 25 100 

20-24 3 22 10 30 100 300 
 

 

   N = 15 ∑ fd = 30 ∑ f 2d = 550  

1½ 

1½ 
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   =  
22

2
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ ∑
−=σ ∑ N

df
N
df

 ½ 
 

   =  
2

15
30

15
550

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
−  

 

   =  36·6 – 4 ½  

   =  32·6 ½ 3 

 :  

   

C.I. f x fx xxd −=  2d  2df  

0-4 1 2 2 – 12 144 144 

5-9 2 7 14 – 7 49 98 

10-14 5 12 60 – 2 4 20 

15-19 4 17 68 3 9 36 

20-24 3 22 66 8 64 192 
 

 

   N = 15 ∑ fx = 210 ∑ f 2d = 490  

   =  
N

xf
x

∑
=  

 

   =  
15
210

 =  14 ½ 
 

   =  
N
df 2

2 ∑
=σ  ½ 

 

   =  
15
490

 
 

   =  32·6 ½ 3 

1½ 
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 33.   

 

Ans. :  

 ( 2x + 3 ) ( 3x – 2 ) + 2  =  0  

 2x ( 3x – 2 ) + 3 ( 3x – 2 ) + 2  =  0 ½  

 26x  – 4x + 9x – 6 + 2 = 0  

 26x  + 5x – 4 = 0 ½  

 where  a = 6,  b = 5.  c =  – 4  

 ∴ x  =  
a

acbb
2

42 −±−
 ½ 

 

  =  
62

)4(6455 2

×

−××−±−
 ½ 

 

  =  
12

96255 +±−
 

 

  =  
12

1215 ±−
 

 

  =  
12

115 ±−
 ½ 

 

  =  
12

115 +−
 or 

12
115 −−

 
 

  =  
12
6

 or 
12
16−

 
 

  x  =  
2
1

 or 
3
4−

. ½ 
3 
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 02 =++ qpxx   where  a = 1,   b = p,   c = q  

  

    m  =  4n  ½  

 
∴   cc=  m + n  =  

a
b−

 
 

 
  4n + n  =  

1
p−  

 

   5n  =  – p   

 
  ∴ n  =  

5
p−

 ... (i)  ½ 
 

 
  =  mn  =  

a
c

 
 

 
  4n × n  =  

1
q  

 

   qn =24  ... (ii)  ½  

 
 n  =  

5
p−

 1  
 

  Then  q
p

=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ −
2

5
4  ½ 

 

   
25

4 2p
  =  q  

 

   24p  =  25q  ½  

   24p  – 25q  =  0 ½ 3 
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 34.   

Ans. :  

  

   ½  

       A :           

       B ½  

    BP  =  BQ  ½  

       ½  

      AQB    APB :   

   BQABPA
∧∧

=   

            ½  

   hyp.  AB  =  hyp  AB    

   AP  =  AQ   

 ∴  APB   ≅   AQB    RHS  .  

  ∴ BP  =  BQ CPCT.  ½ 3 
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 35. 

 

 

Ans. :  

 AB  =  AC    Δ ABC    

 ∴ 
∧∧

= CB   ½  

  CNP     BMP       

  CNPPMB
∧∧

=   ½ 

 PCNPBM
∧∧

=   ½  

 ∴  MBP  ~    NCP    ½  

 ∴ 
NP
MP

CP
BP

NC
MB

==  AA - criteria ½ 
 

 ∴ MB . CP  =  BP . NC.  ½ 3 
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 3DE  =  2BC    

  ∴ 
3
2

=
BC
DE

 ½  

   Δ ABC   Δ  ADE  

  CBAEDA
∧∧

=   ½  

  CABEAD
∧∧

=   ½  

 ∴ Δ  ADE  ~  Δ ABC   ½  

 

∴   =  2

2

BC

DE

 ½  

    =  
2

2

3

2  
 

 
∴   Δ ADE  =  

9
814

9
×

 
 

   =  36 cm2. ½ 3 

 36.   

 

Ans. :  

  =  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
++⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
−+

AA
A

AA
A

cos
1

cos
sin

1
sin

1
sin
cos

1  ½ 
 

  =  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ ++
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ −+
A

AA
A

AA
cos

1sincos
sin

1cossin
 ½ 

 

 
 =  

AA
AA

cossin
1)cossin( 22 −+

 ½ 
 

 
 =  

AA
AAAA

cossin
1cossin2cossin 22 −++

 ½ 
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 but  1cossin 22 =+ AA   

  =  
AA
AA

cossin
1cossin21 −+

 ½ 
 

  =  
AA
AA

cossin
cossin2

 
 

  =  2 ½ 3 

   

 

 

  ½  

    BED ,   EBD
∧

 = 30°  

   ∴ tan 30°  =  
BE
DE  ½ 

 

   
BE

x 20
3
1 −

=  
 

   ∴ BE  =  3  ( x – 20 )  ½  

    ABC ,   BCA
∧

 = 60°  

   ∴ tan 60°  =  
AC
AB

 ½ 
 

   
)20(3

203
−

=
x

 ½ 
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   3 ( x – 20 )  =  20  

   3x – 60  =  20  

   ∴ 3x  =  80  

   x  =  
3
80

  =  26·6 m. 
 

   26·6 m   ( approximate ).  ½ 3 

V. 37.     

Ans. :  

   2x  + x – 6  =  0 

 ∴ y  =  2x  + x – 6   

 x 0 1 2 3 – 1 – 2 − 3 – 4 

y – 6 – 4 0 6 – 6 – 4 0 6 
 

 

    — 2 

  Parabola — 1 

  — 1 4 

 :   

 2x  + x – 6  =  0 ∴ y  =  2x  ,  y  =  6 – x   

  
 y  =  2x   

x 0 1 2 3 – 1 – 2 − 3 

y 0 1 4 9 1 4 9 
 

 

  
 y  = 6 – x  

x 0 1 2 3 – 1 – 2 − 3 

y 6 5 4 3 7 8 9 
 

 

    — 2 

   parabola — 1 

   — 1 4 
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Ans. :  

 R  =  4 cm,     r  =  2 cm ∴ R – r  =  4 – 2  = 2 cm 

d  =  9 cm  

 

  

   8 ·8 cm =   
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Qn. 
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    — 1 

    321 ,, CCC  — 1½ 

    DB, EF  — 1 

    — ½ 4 

 39. 

 

Ans. :  

 

 

  

   :  ABC  CBA
∧

=  90°  

  : 222 BCABAC +=   

  :  BD ⊥ AC    

 :   ABD    ABC  

                        

 BDACBA
∧∧

=  

 DABCAB
∧∧

=  

 

 

∴  BAC  ~   DAB    ½ 

 ∴ 
AB
AC

DA
BA

=  —AA 
 

 

 ∴ ADACAB .2 =  ... (i)  ½  

Figure — ½ 

Data — ½ 

To prove — ½ 

Construction — ½ 
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   ABC    BDC 

  CDBCBA
∧∧

=  

 DCBBCA
∧∧

=  

 
 

 

∴  BCA  ~   DCB    ½ 

 ∴ 
BC
AC

DC
BC

=  —AA 
 

 

 ∴ DCACBC .=2  ... (ii)   

   

  22 BCAB +  =  AC × AD + AC × DC   

   =  AC ( AD + DC ) Q   AD + DC = AC  

   =  AC × AC   

  ∴ 222 ACBCAB =+  ½ 4 

 40. 
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   =   −   

   =  61 – ( 30 + 7 ) 

  =  61 – 37  =  24 cm.  ½  

   7,  24,  25    

  ∴   =  l  =  25 cm.  ½  

 TSA  =  LSA  + LSA  

   + LSA  ½  

   = 222 rrhrl π+π+π  1  

   = πr ( l + 2h + 2r )  

   = 7
7
22

×   ( 25 + 2 × 30 + 2 × 7 ) sq.cm.  ½ 
 

   = 22 × 99  

  = 2178 sq.cm.  ½  

   =  
100

102178 ×
 

 

    =  Rs. 217·8 ½ 4 
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 :   

    =  h  =  24 cm ½ 

   =  l  =  25 cm.  ½  

 ∴  =  πrl   

   =  π × 7 × 25 sq.cm  

   =  175 π  sq.cm.  ½  

  =  2πrh   

   =  2π × 7 × 30  sq.cm  

   =  420 π  sq.cm.  ½  

 LSA  =  22 rπ   

   =  272 ×π   

   =  98π  sq.cm.  ½  

  =  LSA +   LSA  

       +   LSA ½  

   =  ( 175 π + 420 π + 98 π ) sq.cm.  

   =  
99

693
7
22

×  
 

   =  2178  sq.cm.  ½  

  =   
100

102178 ×
 

 

   =  Rs.  217·8 ½ 4 
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   =  hr 2π   cubic units ½  

  r  =  6 cm =  π × 36 × 15  c.c.  ½ 

 h  =  15 cm  

  =     +      

 r  =  3 cm   

 h  =  7 – 3  =  4 cm    

   =  32
3
2

3
1 rhr π+π  ½ 

 

   =  )2(
3

2
rh

r
+

π
 ½ 

 

   =  )64(
3
3

2

+
×π

 
 

   =  3 × 10 × π ½  

 

 =   ½  

   =   
π××
π××

103
1536

 ½ 
 

  =  18 ½ 4 

 :    

     
 1r  = 6 cm 2r  =  3 cm 2r  =  3 cm ½ 

 1h  = 15 cm 2h  = 4 cm  

 
 = 

   ½  

18 3 

2 
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  =  

3
23

2
2

2
23

1
1

2
1

rhr

hr

π+π

π
 1½ 

 

 
  =  

)64(3
3
1

)156(
2

2

+×π×

×π
 1 

 

 
  =   

2

318

103
1536

×
×

 
 

   =  18.  ½ 4 
 
 
   


